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(£ 0 I = R R 28 | 9| 19| 22
2T 56 | 29 26| 31
mEr3TAE 62 | 24| 38 31
AT 40 | 15| | 25| 24
mErsTe 60 | 16 | 44 | 43
mEre T 45 | 21 24| 22
w7 T 50 | 19| . 31 24
METLTH 45 | 16 | | 29 37
MET2TH 29 | 10| 14, 19
MET3TH 45 | 20| 25| 19
METATH 46 | 11 35| 32
IS TH 29 | 14| 15| 14
M6 TH ] 76 | 32| 44 | 73
[5) S  = E 13 | 5| 8| 4
wmEer2Te 6 | 1 5 2
mEer3Te 28 | 12| 16 | 13
wmEeT4Te 15 | 71 8( 8
WEETSTH 35 | 31 4| 31
T N = R 22 | 5| 17, 11
sEr2TeE 21 (7 14, 9
R T = R 17 | 81 9| 71
A L I = D (R 74 | 36 | 38 30
trAer2 T 93 | 37| 56 | 37
rAERT3TH 39 | 19| | 20 21
ey T 29 | 11 13| 14
2T 31 | 16 | 15| 21
3 TeE 20 | 12 8| 15
i O I = R R 17 | 10| 71 15
a2 T e 14 | 31 11, 5
mWafr3TH 40 | 8| 32| 26
a4 TH 65 | 27 38 25
waftrsTH 16 | 10| 6, 10
maftre TH 12 | 6] 6| 5
CHORET 1T H 85 36 49 34
SOAGT2TH 75 | 36 | 39 32
SEOAGMI3TH 52 | 21 31 27
COAGITATH 30 | 10| | 20 16
SOAGMISTH 15 | 6] 9| 4
BT TH 52 | 21 31 25
BT2 TH 10 3 7 9
B3 TH 29 | 10| 14, 19
BrATH 6 | 4| 2, 2
IS TH 29 | 13| 11, 11
sEre TH 8 | 2 6, 6
PORITH 28 | 11 17, 16
PR 2 TH 55 25 30 17
PER3TH 58 | 35| 23| 25
PERATH 8 [ 4, 4, 4
PERSTH 44 | 20| 24| 23
MR 6 TH _ 43 18 25 21
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BRRATH 9 [ 3l 6| 5
BRR2TH 30 | 19| 11, 22
BRRI3TH 22 | 16 | 6, 21
BIRRATH 31 | 9 22| 12
BRRSTH 13 | 6] 71 1
BRR6TH 10 | 5| 5( 6
eI TH 51 | 28| 23 38
teebr2TH 27 | 9| 18| 16
3 TH L 57 | 21 36 | 34
T4 TH 28 | 12| 16 | 24
ey TH 96 | 40| 56 | 63
teefr6TH 86 | 31| 55| 57
sEAT1ITH O 183 | 75| 78| 79
stor2TH 17 | 71 10| 8
g3 T 19 | 8] 11, 12
storaTH 93 | 46 | 47 | 61
sEXrsTH O 30 | 14| 16 | 24
Etire TH 21 | 10| 11, 14
erITH 8 | 6| 2, 4
her2TH o 16 | 71 9| 5
Her3THO 20 | 10| 10| 7
er4TH L 12 | 5| 71 3
terSTH O 23 | 13| 10| 12
tereTH o 14 | 6] 8( .5
RETITH 4 | 2 2|\ 2
ser2TH 15 | 8] 7/ 8
BET3TH 26 | 13| 13| 16
RAT4ATH 249 | 8| 16 | 12
BECSTH 15 | 6] 9| 9
wreTH 9 [ 2 71 4
SETITH 29 | 16 | 13| 16
SET2TH 16 | 8| 8( 6
SET3TH 21 | 10| 11, 17
SRET4TH 7 3 4 2
SETSTH 15 | 5| 10| 7
SET6TH 14 | 71 71 1
FEETLTH 10 | 5| 5( .5
FEEmr2TH 9 ( 4 5/ 4
FEEMT3TH 36 | 15| | 21 12
T4 T H 13 7 6 5
EsersTH 2 | 2,
FEE6TH 3 2y 1y 3
WEY»sE1TH 28 | 11 17, 15
[ON SR AN T2 = I 23 | 10| 13| 8
WEY»E3TH 25 | 14| 11, 16
WV AEATH 22 10 12 11
wEvpsederTH 15 | 8] 71 9
WEvpede2TH 22 | 8| 14, 8
WEvpsEde3sTH 32 | 14| 18| 25
WNEWAER4 TH _ 17 7 10 10
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